Divide 3 Digits by 1 Digit

1. Suzy has solved the calculation 926 + 9 using a part-whole model.

My answer has no

\ remainder.

Find and correct Suzy’s mistake.

2. Compare the two division models by adding <, > or = to the box.

736 + 6
H T o
100 [ 10 10 1 1
100 | 10 10 1 1
100 [ 10 10 1 1
100 | 10 10 1 1
100 | 10 10 1
100 [ 10 10 1

100 Exchanged for 10 tens
and shared equally.

3. Navdeep is comparing the following calculations. He writes the statement below.

A. 219 + 9 =
Calculation B is the odd one out B. 159 = 6 =
because it has 26 in the answer. : )

C. 170 + 7 =

Do you agree with Navdeep? Explain your answer.
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